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9/9 Notes
Equations Involving Ages

September 09, 2011

1) Andy is twice as old as Kate. In 6 years, their ages will total 60.

How old is each now? Kate /Z& us Andy 57 %‘6
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7)  Kathy is 6 years younger than Bill.
Twelve years ago, Bill was twice as old as Kathy was then.

How old are they now? bw
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Part 2
1)  Mr. Klinker is 35 and his daughter is 10.
In how many years will Mr. Klinker be twice as old as his daughter?
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Part 2
3) Peteis 14 and his grandfather is 54.
How many years ago was his grandfather 6 times as old as Pete?
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